
Updated June 2024

HILTI TOOL SPARES FOR PURCHASE FROM CENTRAL WAREHOUSE

CS Customer Service T 131-292

HOL Hilti Online https://www.hilti.com.au/

Tool Class Tool type Gen. Material number Material description
Price Excl 

GST

Price Incl Freight 

& GST
Ordering Channel

COMBIHAMMERS TE 50-AVR 2 2020500 Supply cord AUS 10A 2x1 4m assy 25.59 82.05 CS / HOL

366126 Carbon brush 7x12,5x26 220V-240V AO 8.07 62.78 CS / HOL

330083 Comfort side handle assy 22.73 78.90 CS / HOL

3 2082534 Carbon brush 220-240V set 22.21 78.33 CS / HOL

TE 60-AVR 4 2147742 Carbon brush 7x12,5x26 AV L83 silicone 9.19 64.01 CS / HOL

330083 Comfort side handle assy 22.73 78.90 CS / HOL

TE 70-ATC/AVR 3 2020500 Supply cord AUS 10A 2x1 4m assy 25.59 82.05 CS / HOL

366126 Carbon brush 7x12,5x26 220V-240V AO 8.07 62.78 CS / HOL

BREAKERS TE 1000-AVR 1 2020500 Supply cord AUS 10A 2x1 4m assy 25.59 82.05 CS / HOL

2 2078534 Supply cord TE 1000-AVR 240V 5m 73.94 135.23 CS / HOL

2107829 Comfort side handle TE SH-STD 2 53.30 112.53 CS / HOL

2020500 Supply cord AUS 10A 2x1 4m assy 25.59 82.05 CS / HOL

TE 1500-AVR 1 393990 Chiselling handle assy 120.46 186.41 CS / HOL

2020500 Supply cord AUS 10A 2x1 4m assy 25.59 82.05 CS / HOL

TE 700-AVR 1 2020500 Supply cord AUS 10A 2x1 4m assy 25.59 82.05 CS / HOL

345499 Chiselling handle assy 89.64 152.50 CS / HOL

TE 800-AVR 1 2020500 Supply cord AUS 10A 2x1 4m assy 25.59 82.05 CS / HOL

GRINDERS & SAWS AG 125-19SE 4 2138659 Carbon brush 6x10 240V set 20.96 76.96 CS / HOL

282140 Comfort side handle (M10) assy 33.03 90.23 CS / HOL

341429 Protective cover 125 assy 33.32 90.55 CS / HOL

2020500 Supply cord AUS 10A 2x1 4m assy 25.59 82.05 CS / HOL

AG 125-A25 1 & 2 282140 Comfort side handle (M10) assy 33.03 90.23 CS / HOL

341429 Protective cover 125 assy 33.32 90.55 CS / HOL

AG 125-13S 5 2138659 Carbon brush 6x10 240V set 20.96 76.96 CS / HOL

341429 Protective cover 125 assy 33.32 90.55 CS / HOL

282140 Comfort side handle (M10) assy 33.03 90.23 CS / HOL

2020500 Supply cord AUS 10A 2x1 4m assy 25.59 82.05 CS / HOL

AG 125-15DB 4 2138659 Carbon brush 6x10 240V set 20.96 76.96 CS / HOL

341429 Protective cover 125 assy 33.32 90.55 CS / HOL

282140 Comfort side handle (M10) assy 33.03 90.23 CS / HOL

2020500 Supply cord AUS 10A 2x1 4m assy 25.59 82.05 CS / HOL

DEG 125-D 1 2152979 Brush holder SAG 125-13S 1.78 55.86 CS / HOL

2138659 Carbon brush 6x10 240V set 20.96 76.96 CS / HOL

282140 Comfort side handle (M10) assy 33.03 90.23 CS / HOL

341429 Protective cover 125 assy 33.32 90.55 CS / HOL

SCW 70 1 327887 Carbon brush SCW/WSC 8.08 62.79 CS / HOL

2049672 Supply cord SCW/WSC AUS 30.89 87.88 CS / HOL

WSR 22-A 1 411725 Chuck packed 29.43 86.27 CS / HOL

DIAMOND GRINDER DG 150 1 281861 Flange assy 130.73 197.70 CS / HOL

370641 Detent ring packed 87.15 149.77 CS / HOL

281651 Connecting cable 273.41 354.65 CS / HOL

281860 Nut 14.99 70.39 CS / HOL

370640 Seal packed 33.45 90.70 CS / HOL

281741 Comfort side handle assy 165.15 235.57 CS / HOL

DPC 20 1 73330 Supply cord AUS 42.19 100.31 CS / HOL

2080171 Supply cord AUS 10A 2x1,5 4m assy 25.36 81.80 CS / HOL

237655 Supply cord AUS 22.28 78.41 CS / HOL

2086223 Supply cord 240V 20.51 76.46 CS / HOL

281739 Supply cord AUS 10A 2x1 1,5m 14.58 69.94 CS / HOL

DGH 150 1 2183533 Grip finpt (side handle) 30.81 87.79 CS / HOL

2020503 Supply cord AUS 10A 2x1,5 5,5m assy 29.48 86.33 CS / HOL

DGH 130 1 93853 Supply cord 240V AUS 19.84 75.72 CS / HOL

2153040 Switch SAG 125-13S 2.01 56.11 CS / HOL

2020500 Supply cord AUS 10A 2x1 4m assy 25.59 82.05 CS / HOL

237655 Supply cord AUS 22.28 78.41 CS / HOL

364607 Supply cord 240V AUS 66.37 126.91 CS / HOL

2020503 Supply cord AUS 10A 2x1,5 5,5m assy 29.48 86.33 CS / HOL

2209979 Vac hose adapter 52.92 112.11 CS / HOL

2200273 Dust lip set 17.56 73.22 CS / HOL

These spares are for non-invasive tool maintenance purposes only. For any Switch, Brush, Supply cord replacement, please refer to your local State Legislation on regulations for repair work 

conducted on electrical equipment before commencing work. Hilti is not responsible for any damage inflicted on tools as a result of self-maintenance. Hilti is not responsible for any injury 

suffered to any person(s) as a result of self-maintenance. 

Spares shown are for very simple, 'self-maintenance' purposes. 

Spares may be ordered through the ordering Channels shown.

All spares are sourced from Central Warehouse.

For any other repair required, please book your tool for repair through the same Channels

https://www.hilti.com.au/


Updated June 2024

HILTI TOOL SPARES FOR PURCHASE FROM CENTRAL WAREHOUSE

CS Customer Service T 131-292

HOL Hilti Online https://www.hilti.com.au/

Tool Class Tool type Gen. Material number Material description
Price Excl 

GST

Price Incl Freight 

& GST
Ordering Channel

These spares are for non-invasive tool maintenance purposes only. For any Switch, Brush, Supply cord replacement, please refer to your local State Legislation on regulations for repair work 

conducted on electrical equipment before commencing work. Hilti is not responsible for any damage inflicted on tools as a result of self-maintenance. Hilti is not responsible for any injury 

suffered to any person(s) as a result of self-maintenance. 

Spares shown are for very simple, 'self-maintenance' purposes. 

Spares may be ordered through the ordering Channels shown.

All spares are sourced from Central Warehouse.

For any other repair required, please book your tool for repair through the same Channels

GAS SAW DSH 900 1 2280102 Air filter DSH (2 pack) 35.53 92.98 CS / HOL

261989 Filter cartridge inside 13.14 68.35 CS / HOL

2280107 Spark plug DSH packed 11.82 66.90 CS / HOL

412228 Filter element DSH set 9.38 64.22 CS / HOL

417679 Cable set 19.99 75.89 CS / HOL

261965 Valve 37.33 94.96 CS / HOL

407818 Water supply unit 170.97 241.97 CS / HOL

359550 Hose 33.41 90.65 CS / HOL

2 261989 Filter cartridge inside 13.14 68.35 CS / HOL

2133296 Switch DSH-X_02 set 15.38 70.82 CS / HOL

261965 Valve 37.33 94.96 CS / HOL

407818 Water supply unit 170.97 241.97 CS / HOL

412228 Filter element DSH set 9.38 64.22 CS / HOL

1 / 2 2279737 Consumables kit DSH 700/900-X 139.00 206.80 CS / HOL

DSH 700 1 2280102 Air filter DSH (2 pack) 35.53 92.98 CS / HOL

417679 Cable set 19.99 75.89 CS / HOL

2280107 Spark plug DSH packed 11.82 66.90 CS / HOL

407818 Water supply unit 170.97 241.97 CS / HOL

412228 Filter element DSH set 9.38 64.22 CS / HOL

2 2280107 Spark plug DSH packed 11.82 66.90 CS / HOL

1 / 2 2279737 Consumables kit DSH 700/900-X 139.00 206.80 CS / HOL

DSH 600-X 1 2280107 Spark plug DSH packed 11.82 66.90 CS / HOL

2165413 Air filter DSH 600 34.35 91.69 CS / HOL

261989 Filter cartridge inside 13.14 68.35 CS / HOL

2137756 Consumables kit DSH 600 189.25 262.08 CS / HOL

VACUUM CLEANERS VC 40-U & UM 1 / 2 / 3 363964 Wheel 100 44.60 102.96 CS / HOL

363964 Wheel 100 44.60 102.96 CS / HOL

363976 Wheel 180 34.66 92.03 CS / HOL

2121387 M class filter VC 40 UM 163.24 233.46 CS / HOL

VC 40M-X 1 2236800 Wheel Trolley Universal 45.57 104.03 CS

2281707 Wheel VC 40 front 15.18 70.60 CS

2281703 Vac tub, complete incl wheels 317.74 403.41 CS

2281709 Push Bar VC 40 79.39 141.23 CS

2261257 M class filter VC 40 MX 159.00 228.80 CS / HOL

VC 60M-X 1 363964 Wheel VC 60 front pair 44.60 102.96 CS / HOL

2178180 Wheel VC 60 back pair 26.09 82.60 CS / HOL

2211349 Vac tub (just the bin by itself) 387.59 480.25 CS

392677 Connection assembly into the tub 37.52 95.17 CS

2182582 M class filter VC 60 MX 243.80 322.08 CS / HOL

WIRE SAWS DSW1510-CA 2342127 Runner D=245mm fixed 2439.00 2736.80 CS

2342128 Runner D=245mm lower 2875.00 3216.40 CS

2319424 Clamping element 261.16 341.18 CS

2360244 Clamping lever M10 89.35 152.19 CS

2276317 Locking bracket WS wheels RIGHT POA CS

2276239 Locking bracket WS wheels LEFT POA CS

2319493 Pan head screw Typ KF M8x70 4.10 58.41 CS

2319494 L.nut DIN 985 6-8 M8 2.49 56.64 CS

2335625 Drive wheel DSW-W280 assy 1800.00 2033.90 CS / HOL

2335626 Storage wheel DSW-W 245 assy 955.00 1104.40 CS / HOL

2335627 Guide wheel DSW-W 245 assy packed 935.00 1082.40 CS / HOL

2333233 Drive wheel DSW-W 280 serv. set 472.00 573.10 CS / HOL

2333234 Storage wheel DSW-W 245 serv. set 550.00 658.90 CS / HOL

2333235 Guide wheel DSW-W 245 serv. set 555.00 664.40 CS / HOL

2337475 Wheel DS-WS 245 rubber 308.00 392.70 CS / HOL

Single Pair Pulley DSW-SPP 276360 Screw 82.02 144.12 CS

2342129 Runner D=245mm wire 1706.00 1930.50 CS

2335627 Guide wheel DSW-W 245 assy packed 935.00 1082.40 CS / HOL

2333235 Guide wheel DSW-W 245 serv. set 555.00 664.40 CS / HOL

2337475 Wheel DS-WS 245 rubber 308.00 392.70 CS / HOL

DSW2005-TS 276360 Screw 82.02 144.12 CS

2053831 Protective sleeve PLASTIC 123.26 189.49 CS

359776 Runner assy 3672.71 4093.88 CS

2282548 Wheel D200 x 42 ALU with axle long 820.64 956.60 CS

2282549 Wheel D200 x 42 RED with axle long 832.73 969.90 CS

2282677 Wheel D200 x 42 SG 682.92 805.11 CS

314373 Drive wheel DS-WSW 500 2867.50 3208.15 CS

221415 Rubber 8.19 62.91 CS

https://www.hilti.com.au/


Updated June 2024

HILTI TOOL SPARES FOR PURCHASE FROM CENTRAL WAREHOUSE

CS Customer Service T 131-292

HOL Hilti Online https://www.hilti.com.au/

Tool Class Tool type Gen. Material number Material description
Price Excl 

GST

Price Incl Freight 

& GST
Ordering Channel

These spares are for non-invasive tool maintenance purposes only. For any Switch, Brush, Supply cord replacement, please refer to your local State Legislation on regulations for repair work 

conducted on electrical equipment before commencing work. Hilti is not responsible for any damage inflicted on tools as a result of self-maintenance. Hilti is not responsible for any injury 

suffered to any person(s) as a result of self-maintenance. 

Spares shown are for very simple, 'self-maintenance' purposes. 

Spares may be ordered through the ordering Channels shown.

All spares are sourced from Central Warehouse.

For any other repair required, please book your tool for repair through the same Channels

Plunge Pulleys 359778 Runner assy 2732.05 3059.16 CS

2163841 Plunging wheel DSW-PW fixed 4600.00 5113.90 CS / HOL

247620 Plunging wheel DSW-PW rotatable 6344.64 7033.00 CS / HOL

359768 Guide wheel 200mm assy 1601.64 1815.70 CS

368760 Runner D125mm 982.40 1134.54 CS

276360 Screw 82.02 144.12 CS

WALL SAW DST 20-CA (2nd Gen) 221343 Hexagon screw M12X25 1.86 55.95 CS

2017811 Flange Outside packed 265.35 345.79 CS

2330128 Flange DST-CF 60 6kt -45 1820.00 2055.90 CS / HOL

2349028 Set DST-FCF 6 kt 65.00 125.40 CS / HOL

2328063 Flush cutting flange DST-FCF 60-110 1990.00 2242.90 CS / HOL

DST 20-CA (1st Gen) 359279 Hexagonal bolt M12X45 14.76 70.14 CS

242054 Flange outside 304.46 388.81 CS

258436 DST FCA 60-110 4220.00 4695.90 CS / HOL

307188 DST FCA 60-110 ASSY 1510.00 1714.90 CS / HOL

242383 Screw 2 x M10x12 + 5 x M10x20 set 32.33 89.46 CS / HOL

Wireless Remote WRC-CA 2059565 Cable DST WRC-CA 739.85 867.74 CS

360055 Battery PRA 84 352.80 441.98 CS

2006089 Mains Adapter PUA 81 269.00 349.80 CS / HOL

https://www.hilti.com.au/

